Unit 6: Representations of Linear Relations
PRE-TEST

Determine if the sequence is arithmetic. If it is, find the common difference.

2.-20,-13,-6,1, ...

1.1,1,1,1,..
| - 20 ' ~13 -(-a8)= 7 g )
() Not _ AV‘IH'\W\Q“[‘I(/

1-(1)=o0 Al b “L-(-13)= 7

"(I)DO 'f"’v W\Q”\/(_ ]-(——('): 7 Gl :7
Find the recursive formula for each of the following:
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Find the explicit formula for each of the following:
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Given the following arithmetic sequences answer each of the following:
7.—26,—126,—226,—326, ...

A. Find the next three terms B. Find azg Gp=nd +b C. Find as,
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A. Find the next three terms B.Findazy a,=n-d +b C. Find as,
-29-(-33)= Y -33=1-4 +} Explicit  Formals
-25 ~(-a%)= Y ~33= Y +b
- =¥ = . a’\': ‘{'\_—37
"2"‘("25) = Y -37:=)
Al +Y = Uso=30(4) - 37 852 2 4(s2) = 37
-7 4y = = 120 ~37 = 3068 - 37
-3+ Y = : =il




Find the missing term or terms in each arithmetic sequence.
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Evaluate the related series of each sequence.

19. 20,28, 36,44,52, 60

20423 +364Y44 + 524 60 = [AYa)

20.6,9,12,15,18,21
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Evaluate each arithmetic series-described.
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22.28+4+354+42+49..,n=18

()575‘§

23. %i21(7k — 2)

365

24. 732

1(5m)

[Hioa |

25.0, =2,d=4n=10

[ %00

26.a, =23,d =8,n=8

[Ho3

G?G‘vd \awo;.f!‘yf'u (V) »l"om




@ '23/ _— ’7 US:'rj @n = Q( +(h-’>'ej
oW % 7 =43 + (3-1d
17 = A3 + Ad
—23 -23
Gy = @, +(2-1)d ¢ = 14
= 2 -
&, =23 + /(~3) @
4, = 23-3
: - u In = y\—-l>'
@ 6, / /97 s j a'\ a, + ( d
6“{ qlz Q}

a:l = al 4’(2")'0\
4, = ~C + 1(100)
G, = ~6 4100

a, = 9]

199 = -¢ +(3-1)d
94 = =6 + 24
+6

|

+ ¢

Aeo = Ad
2

—

<

a, = G, + (2-1)d
a, = (7 +1(-3)

@, = 17-3
a, = a, + (3-1)d
Gg = 17 # 2('3)

Gy = 17 ~6

Ustng Gn = 4 4 (n-1Y-d

§ = 17 +(4-1N
§= 17+ 3d
=17 =7
| a7
o

1
3



‘33/ _— Y8 u‘""] a, = 4, + (n-1)4

“oh G 45 = =33+ (4-1)d
=8 = =33 4 3J
133 +33
q‘xcql'*(-Z“/}'O{ 4 ,15:30/
= 33+ 1(-5) AN

G, =-33 -5 @
q} = a/ + (3"’)'4
ay = ~33 4+ &(-s)

a_, = -33 —/0

@ S ~5 um) a, =4, + (n=1)-d

a, 4 4 4 U -95 = ~IS +(5-1)-d

-95 = —|5 + 4d

+1s Fis

- 80 = 4d
R, =& 4 (2-1)-d a;=a, + (3-1)-d d,, =a +{-~1)d
G =15 +1(-20) dy= 15 + & (~20) a, = 1 +3(-20)
a, = -15 -0 a, = “Is- Yo Gy ="15 - 66

g



=4, + (2-)-d
G =19+ 1 (-9

az = /7 _9

(4, = lo

uing  a, =4, +ln-1)d

-i17=19 4 (5-1)

“12= /9 ¢ ‘/cl
~§9 =¥

__‘/_4

a,=a,+(3-1).d Ay =a, + (4-1)4
Gy = 19+ 2 () 4y =19+ 3 (-9)
4; =11 -8 4, = 11-27

[4, = -¢]

@ A [/ 1
éf, ['Z

P et

Qs

Gy = a, +(2-1)-4
Gy = Al + 1+ (-10)
=2l -lp

dy =4, * (3-1)
G, = A+ 2- (o)

4, = 21 ~20

u)‘/‘r7 &, = 4, %(n—/)'l‘j
29 =21 + (6-1)d
29 = 31 + 5d
’Z’ -2

= 5d

—

5

~Jo = d

=30
5

Gy =0, +(4~)d a5 =4, +(s-1)d
Q= Al # 3 (-l0) 4y = 21 + ¢ (’°>

q‘l=,11 - %6 . 5B S =

e B (e e



@ -, / / / / ~A1 Mmj =4, + (n-1)-d

R s 1Y (1)
~29 = -9 + 54
+1Y Y
-5 = 54
s s
Gy = @, + (2-1)-d 4'3 =a,+ (3-0d  dy=a +(y-1)-d a, =a, +(5-1)d
ez =14 + |- [~3) a3=-1Y4 + 2 (-3) Gy= 14 + 3- (-3) =Y F Y (-7)
= —/'/ ~3 = Y-¢ 4y =-1Y-9 = =Y 7

3 - usi a.\ :ql *(h'll)'fll
OB =z )
4, Q. 4y Q‘/ 6’}5 G, &7 -0l = ~%+ (7-1 :
“Gaz= -5+ ¢d
+§ *¥
st - ¢d
b (A
=4 + (2-1)-d CagEa+(GeNd 4y =a +(4-1)
65 81D @=-8F 2 (9) 4,=~8+ 3. (-9)
=-§-9 - Ry = -§-)p Q= -§8-27

A,
= 2 - ‘ = -35
| @ | a3 = -26 Ay = -3

ag =4 +(s--d  G,=0, +(c-1)d
Q.’: -¥ + Y. (—7) QQ: ~§F5. (“ﬁ)
4y =% 3¢ 4 ="8-%

%]
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